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D C B A Questions y = Uly St
4 A ] 0 e il (0, 1) s (1, 0B 1
Distance between the points (1 ,0)and (0, 1) is:
. 23 = _ ;.;.;/U:JJL?* 2
The symbol of congruent is:
In figure x° = _ x°= Jif 3
Hse 105° 90° 75° Tk
75° .
5 B Lu i e U Ui N QU et L) 4
. ) A is called a bisector of an angle if it divides the
Point Line segment Ray Line angle into two equal parts.
E g Lol -’ - q_?&:’[;(}wéd/,l/,u’:u;‘f;) 5
Range Average Ratio Proportion_ | Equality of two ratios is called:
Y oL i 1 ey Eoaill 5| 6
’ . . A'rectangular region is the of rectangle and its
Difference Union Complement Intersection  |intefior.
2slible A2 & s UG- :Jx&ﬁ-u?u;q} Cofus .:AP.{!)T 7
} ) If three altitudes of a triangle are congruent, then the
Acute angled ; Right angled Equilateral Isosceles triangle is; 7
; . " 0
ot ).‘C dl‘w Ls/“ . :g_'_t‘l?lil;/‘ﬁ' f [\/(;5 ﬁ] 8
V2 O] iscalled '
Singular Scalar Unit Zero [ 0 ﬁ g ]s,-’:ca ed_ matrix.
2
el g i 50 9
F | e 7 @ | SRSLS
‘ Wfif‘?‘i’Zﬁ with radical sign:
» logp _ q - i (B s
log( = J = log(p—q) log( p} logp—logq = 10
2 3 4 1 -ﬁ‘- ,.?J}( 4)(4 + 2X2y U,J/:;( i1
The degree of polynomial 4x* +2x2y is:
% YT 2 :
x=D,3x+2) | x=1,3x-2) | (x+1,3x+2) | (x+1),(3x-2) QI X -x -2 | 12
Factors of 3x% —x -2 are:
"y 8 4 ol B
a? —ab +b? aZ +ab+b? a+b a-b N e bt a” ~b uia® ~b 13
H:C'F of a2 -b2 and a3 -13 is:
x-2<0 x+2<0 IX+5<0 x>0 -?—V/CK'-‘{J‘C_—*”V/:;‘FO 14
x =0 is a solution of inequality:
v li I 1 e G 379 B 15
Point (-3,-3) lies in quadrant:
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( Part-1 J3 4aa )

Attempt any SIX parts: ‘-g{d’f"].’.{c—'é[
Define singular matrix. FM’- P 3o IR -gi:.y/;‘.J..JU';)t ()
If [a%& bi[}=[—g gJ then find a and b. . -“L.{pj'“ b s a?[ag3 bi|]=[_g g}/fi (i)
Simplify and write in the form of a -+ ib: (2-3i)(3 - 2i) (2-3i)3 - 2i) a@:&"& a+ib Jﬁ’éj:':/ﬂ? (ii1)
Simplify: (x3)2 + oy (2 + % »é’:/i” (iv)
Find the value of x : loge2s5 = %X loggas 5 = %X :é/r:l”.wfd/ x W)
Write in ordinary form:  9.018x107 90.018x10¢ @zl (vi)
(fa+b=5 a-b=V17 then find the value of ab. ~Ered abya-b=VIT caxb=5 fi (yii)
Rationalize the denominator: J”T‘ﬁ ﬁ :é,@&tfug} (viii)
Bastories:  ® ety sl 2-lx-42  :ZZ¢F (i)
Attempt any SIX parts: 25;4:4)"'7.’.{4:—6:’/
Find the square root by factorization: x? ‘1+‘4:1(7 x? “1+;)]:2- g‘gph"d/mﬁdf,gu (1)
What is meant by strict inequalities? ) V' "¢ ?c‘:_,)l/gc-_.abt/ffbx‘."‘ (ii)
Solve: X;3 _xgz e | x—;‘?""x—;—Z=“1 G2 (i)
Define Cartesian plane. » -ffb.y/jg(d:wuf:( (iv)
11‘C=—3—(F—32°) arid F =176% whias find €. -.:;fr}VC $F=176° J,rC=—g-(F—32°)fl (v)
Define isosceles triangle. _;é.,y/deuU,u (vi)

Find mid-point of the line segment joining A(2,-6) and B(3,-6). -g,{r)b’ﬁdyﬂﬂ:‘.&cé_ﬂf B(3,-6) »2 AQ2,-6) (Vi)
What is meant by (SSS=888) ? ?‘c.;l/l_fc. LSS ELSS (viii)

A . gy
EeedS mevFUEES (i

Find the value of unknown 'm' for the given congruent triangles:

B C
5m-3 D 2m+6

Attempt any SIX parts: gi:dlpl]l%’c_éf
=8 2 o ox0 e PUBUE S S e e iotE A i) AD f ABC QUG ()
e

In equilateral triangle ABC, AD is the bisector of angle A as shown in figure. Then find
C  the values of x° and z°.

_c‘-.l:nl‘/,c;d(f/gfc‘;uz_/f};fKufUJCMb:ﬁ&&féaﬁ?un 8em st 6em « 10em UYLS LIl et [ Gi)

If 10cm, 6¢m, and 8cm are lengths of a triangle, then verify that sum of measure of two sides of a triangle is greater
than the third side,
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Define ratio. S S i

State the converse of Pythagoras theorem. F zD-q ,- u_ ..55;: u.L;.:.u:" Q’Jf/f (iv)

12 13 12 13 )
Find the unknown value in the given figure: k h :Mér)”/l@(}"tuﬁgﬁéfd: (v)
. X X

Define area of a figure. ..é’}:s—y/i}:’jjécykff (vi)
g 6om QLS e 18em? S LD i)

Area of a rectangular figure is 18cm? . If length is 6cm. Find its width.

Define orthocenter. ) -5&(_,9,//7(,(//6); (viii)
Construct a triangle ABC in which: mAB=3.2cm , mBC=4.2cm , mCA =5.2cm J.'.’sz_',b- ABC &5 (ix)

e Jil 9/1{)1,~ ,ug/ 08 L vz _é{fggml,oulﬂfc_é;f cadgd s

Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

.2_)5(;_2%},:;‘_10 géd’a..uJJPLU;:‘G’:QJ:?Z:u;bb‘/’.}f‘c_u(fu:gﬁ' (D

2x-2y=4
Use matrices to solve the system of linear equations by matrix inversion method: _5x _gy =-10

i a+b b b+c¢ ¢ \cta % a+b b b+c ¢ \cta ( )
Show that (_x_bj (x_) (_.j Q (_] (_X_J (Lj e
Sl x X X2 x° X" X2 i

0.678x9.01 .67 . - 5.y ;
Use logarithm to find the value of: —'0—02%4—- Q%_g%&_ol_ ér}”‘c;{ c,ud/ﬂ{@ )

mn +np +mp = 27 Jﬂm+n+p=10~.§.”ér)b’f—'#g‘-;m2+n2+p2 (&)
Find the value of m?+n?+p? if m+n+p=10 and mn+np+mp =27

e gyl PR = 4% =T +6x=3m ¥ (4L L o S m e o (L)

For what value of m is the polynomial p(x)=4x>—7x?+6x —3m exactly divisible by (x + 2)?
SO b s (L)
X

2 X y y2
;2‘“107”7_103{*‘7 (x#0 , y=0)

X
. 2 1 1 ) ;
So;ve the equation: X466 Ix+4d ° X # =2 g‘:’/pl”_‘{‘f ()

Use division method to find the square root of :

Bt L Ygil St ABC &ds (L)
Construct the triangle ABC and draw the bisectors of its angles:
mAB =4.2cm , mBC =6cm , mCA =5.2cm
EnClng it L 5B s I o WISslre s L 5 835 I (LS b
Prove that any point equidistant from the end points of a line segment is on the right bisector of it.
- OR | -

_Juﬂ/.i/.u:,}mun/.f/.cw&uu;tund"u{wwvgzu?%ﬂ.(é -

Prove that triangles on the same base and of the same (i.e. equal) altitudes are equal in area.
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= '_7&1;"}:;’);1”0:“/5?’3?&:4’7)&-g}:u:j’)éé_)&tféd’fﬁ{égdm 'ujZ{—JD s C «B :Ae&b‘!.'a@'bédlr‘/r /f}d'f
-(nxﬁwy&ojﬁufaijLfﬂ.&b’ LL/JUJJI»JLJL-Q E
l D C B A Questions / <= Uy -
| .
( Bzl 2:1 101 2:2 LGS S pofiualot]
The medians of a triangle cut each other in the ratio:
‘ 7 Ji i dy/ _(,us/rng,JJ.,;V =. §Cuougiz| 2
L Area Mass Weight Length of parallelogram = base x altitude.
l 2 i ' 3 4 Ic“_)lﬂJbPLlﬁél‘pg’:_dL@) 3
L ‘ Number of lines, that can be drawn through two points is:
! Lehpss Loty BLls Ly ZyJ b?fg:‘.“gf Wy b5ab s Lfc"_.,ﬂ/c;»..i:"’.&fgfb»ﬁuj 4
; Second end Firstend Any point Mid-point | Right bisection of.a line segment means '.QJ}C:..U."
; ] | to draw a perpendicular at of line segment.
| Je i g Jisf B Sl S| s
, Congruent | Non-concurrent Non-congruent Collinear Diagonals of a rectangle are;
1 v
i Two non-parallel lines can intersect at point(s).
I, ©, 0 -3, 3) (-3, 0) ©,3) ek 3. 0) (=3, 0|
L Mid-point of points (-3, 0) and (3, 0) is:
, (_1,1) (l,—l) (—l,“l) (1’)) c‘_,{l/‘(X,)’))’“ﬁ(x—l’)"*]):(Oy0)j 8
| lf(x—l,y+])=(0,0) then (x, y) is:
(0,3} (o) ta) b et f¥ix-al=-4|
Solution set of [ X - 4|=~4 js:
i l I 1 ] 2 =bY a2 sab 42 5 10
24 p2 b-a a+b a-b 4 44 2.0 =
a¢ + b a’'-b a“+b
. . vl 7
XA D3 | (x=2=3) | (x4 6 (x=1) | (x+1)(x+6) el LR ges | 1
The factors of x2 - 5x +6 are: _ % ¥
b _2a a=b 1 L5 s '
a? _p? a? ~p2 a+b a-b a+b a—'t%“'tmb'f\?' ' 12
=i 10 0 ] -‘étﬂ/.jl.c-(— ﬁ@('l'{dl/l(ff 13
F The logarithm of unity to any base is:
. 5 2y
(2ab)? (<2ab)? 2ab ~2ab 0T 2t ) AT g
Real part of 2ab(i + i2) is;
- (8 b)x]_[m] -
_an-cm _an-cm _an+cm _an+cm "’lﬁ[c d]’:Y]—["Jﬁ —
Y= ad=bc | 7 ad + be Y= ad ¥ e Y= ad—be a bilx|_[m
If ¢ dify{ In}|, then: ¢
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( Part-1 J3l 4 ) < i
Attempt any SIX parts: ¢ o J”'Z'A‘ZG
FRD-9L-22- ey

Define identity matrix. (1)
Find the product: (6 Olm _ (6 Olm e S )
simplify: V=125 ' YT N (11)
Simplify: 520 L (523 52 (52 Z:’/”’ (iv)

If log3=0.4771and log5=0.6990, then find value of log45. -gf:/r:b’_wf o log45 5 log 5= 0.6990 ! log3 = 047 )1 (v)

Evaluate: 108512 to the base 272 log512 to the base 22 :érﬁ‘;;»f (vi)
Reduce rational expression to the lowest form: 'i?_)(;'%% i?i; tlg ic’ﬁg o~ f 0 }/‘:"/E, J” g (viD)
Simplify: 5 V125 % WiEs LA (i)
Factorize: 25%2 + 16 + 40x o 25x2 +16 + 40x 5{6/- (ix)
Attempt any SIX parts: / w* I;;:J?’Zhgc.é:(
Use factorization to find the square root of: 4X%‘: 123 +9 - 4x2 -12x +9 ér)”d}u»d/:gju @)
Solve the inequalities: 4x-103= 21"—‘&?}‘}’; 4x-103=21x-1.8 igik)’fu;’h(//:.; (i)
Define strict inequalities. } : -Mé..i_/fJ;sz/:;J:xz’ (iii)
Write the given equation in the form of y=mx +c¢: 2-3x+y=0 éuig}/’u(y =mx+c fwlﬁk/&fd} (iv)
Define collinear points. ..é':..—é!j:"d/w;bﬂ v)
Find the distance between two points: AQG.-11 BG.-4) AQG -1 BE) iég(ﬁ’yﬁdy/)ﬂﬁﬂfé_) (vi)
Define equilateral triangle. __{;(‘J_J/"'Jw(/u,zmd,u (vii)
What is meant by AS.A = AS.A? Sl Ve sofed = iafad (vidi)

g NS QL LN 130° sl e Weui LT (i)

If one angle of parallelogram is 130°, find the measures of its remaining angles?

Attempt any SIX parts: :sédlf'z’i "——J:(
Define concurrent lines. —_é-—“.f/‘?Jb}J”,&'i’r? @
Define proportion. -g";/—g!/‘-'—JJU (i)

*UJWUEUJ:/UAJ{ Sem o3l 3cm ¢ 2em Ig!_:,t»c,df) (iii)

2cm, 3cm and Scm are not lengths of a triangles. Give reason.
State Pythagoras theorem. -{; ug;‘w:’: Bl (iv)

UV AL el 124G ¢ = 3dem sl b=300m « a = 16cm SET4F  (¥)
Verify that a = 16cm , b= 30cm and ¢ = 34cm are sides of a right triangle.
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Define area of a figure. FBD '41’ 2,2_ -*‘éwy/‘jp(ﬁzéyf (vi)

Find the area of the given figure: Ll 3cm :éfkﬁ,{f&fj} (vii)
6¢cm

Define centroid of the triang|e. : -ﬁi:ru—y/(,(l///ﬁc:«b (viii)

Construct a triangle ABC in which: mAB=4.8m , mBC=3.7cm » MLB =60° 1(/:Lﬁ2rlk ABC &> (ix)

-6 94 Lt 08 £ vy Sl etvde §f by aa

Part - II, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

4X+y=9 4x+y=9 . " .
Solve by using the Cramer's rule: -3x }y =_5 -3x _yy =-5 15&;)1({(;}:’5’&/1/ ()
a2 \a+b b \b+c ¢ \¢t+a a \a+b b \btc ¢ \¢+a
Show that: (Lb] x(x—c) x(—x?) =] (x_b) x(—ij x(x—a) =1 J/égb (“"“)
X x© X X ¥ X
Use logarithm to find the value of: V2.709 x /1239 =y P..wfc,ud/dw A7 ()
g &

i Xy 4z I Xy+yz+2x =59 yx*+yr 122 =78 f; ()
If x2+y? 422 =78 and xy 4+ yz + zx = 59 ,thén find the value of x 4y + 7.

Factorize by factor theorem: X>—6x%+3x +10 X =6x2 +3x+10 :édfauuﬂjf.l’/ ()
Use division method to find the square root:  9x* — g £ 7% 2% +1 25;5/(:1”(’/"/’/& K,Lf,‘::ia!/); (&)
3-5x{ 1 2 3=-5x| 1 2 y
" —-——= —-_—= . s /

GELAGAL Lozt ABC b (L)
Construct the triangle ABC and draw the perpendicular bisectors of the sides:
mZA =30° , mBC=2.9cm , m/B = 60°
-Gt nbifiiet L ug,uéwp{fé{ b
Prove that the bisectors of the angles of a triangle are concurrent.
-- OR | o

-ug(}n/.l/.uf,}/J@lCU«'oUUJ’PGUCL&LUJ/.AI('E b Uselisls S e

Prove that parallelograms on equal bases and having same (or equal) altitudes are equal in area,
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